88 7T 2 12 15 81 5 A2MA 11012005 = 3 5
5

~ e lp?wz‘ff'g Tk e
(4%;10A’#100A)
L3 ~F2fri - AT REEr &> 7RI
9 18 A R ET 205 A L4SFE T 352

2T w2 Pk W= XTI
90 & » {83 X enT30R 92 & > BT S p|Sken
Tyag Ha ?

R LR LI SN LA 2 S R
M= A Edfed 30 & > PRAA 4~ 2 e e

4. ] FfedE G enE $4p L 24 B> T GG chE d

I&I‘ﬁ*ﬂ;] ]Em4 ], 9?&@&%&%‘{? ‘Igm-ﬁ:ﬂ:
EABRY

5_;;2;3;%60;@,,‘&?8%«' > BE SRR D E
A EDS5 BT

P

6. = F & & 300~ FEEE 500 ~ 0 F|EEF
B 20 ¢ F£757 9000 ~ 0 = Ffc% F LR
e ?

TRARE Aok RAeh - K G 65 &P
%7 180 &% RIFgIcdk £ B L7

BE &r% TR B DR B

-3

9. gre PETE; 1350 = & > fpee ﬁx___,mr% g » = &

S M R L -
2

L&

0.4 - B % £ 471 2 < Rk o e F ks
LI A e R



